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MapkomscTo 18 cyTepeH -1 12,50 29,36 | 41,86
Mapkomsacto 19 cyTepeH -1 12,50 29,36 | 41,86
MapkomscTto 20 cyTepeH -1 12,50 29,36 | 41,86
MapkomMsacTto 21 cyTepeH -1 12,50 29,36 | 41,86
MapkomsacTo 22 cyTepeH -1 12,50 29,36 | 41,86
MapkomsacTto 23 cyTepeH -1 12,50 29,36 | 41,86
MapkomsacTo 24 cyTepeH -1 12,50 29,36 | 41,86
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CYTEPEH -2

FAPAXW N MAPKOMECTA K-5.80

Bxon Tvn Etax 3acTpoeHa OM. | O6bwo
MJOW KB.M. | KB.M. | KB.M.
Fapax 13 cyTepeH -2 24,01 56,39 (80,40
Fapax 14 cyTepeH -2 24,61 57,80 (82,41
Fapax 15 cyTepeH -2 23,94 56,23 (80,17
MapkomsacTto 25 cyTepeH -2 12,50 29,36 [41,86
MapkomsacTo 26 cyTepeH -2 12,50 29,36 [41,86
Mapkomscro 27 cyTepeH -2 12,50 29,36 (41,86
MapkomsacTto 28 cyTepeH -2 12,50 29,36 (41,86
MapkomsacTto 29 cyTepeH -2 12,50 29,36 (41,86
MapkomsacTto 30 cyTepeH -2 12,50 29,36 (41,86
MapkomsacTto 31 CcyTepeH -2 12,50 29,36 [41,86
MapkomsacTto 32 cyTepeH -2 12,50 29,36 (41,86
MapkomscTo 33 cyTepeH -2 12,50 29,36 |41,86
MapkomsacTo 34 cyTepeH -2 12,50 29,36 |41,86
MapkomsacTto 35 CyTepeH -2 12,50 29,36 (41,86
MapkomsacTto 36 CyTepeH -2 12,50 29,36 (41,86
Mapkomscro 37 CyTepeH -2 12,50 29,36 |41,86
MapkomsacTto 38 CyTepeH -2 12,50 29,36 (41,86
MapkomsacTto 39 cyTepeH -2 12,50 29,36 (41,86
MapkomsacTo 40 cyTepeH -2 12,50 29,36 (41,86
MapkomsacTto 41 cyTepeH -2 12,50 29,36 (41,86
MapkomMsacTo 42 cyTepeH -2 12,50 29,36 (41,86
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